M:thin English Brain Teasers level 3 #4

puzzle2 puzzle3
What is the missing number Which number completes
in this puzzle ? the pattern ?
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M:thin English Brain Teasers level 3 #4

Answer to brain teasers

puzzle1: 7:25
The time increases by 1:50 in each next watch.

puzzle2: 7

The value of F in the center is the average of the opposite
numbers.

puzzle 3 : 3

The center number in each cross is the average of its adjacent
numbers.

puzzle 4 : 8, 16 and 24
The sequence follows a x 2 x 3 +2 + 3 pattern.
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